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INSTRUCTIONS
IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD
CHECK THAT THIS BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR MISSING
PAGES OR ITEMS ETC. IF SO, GET IT REPLACED BY A COMPLETE TEST BOOKLET. .
ENCODE CLEARLY THE TEST BOOKLET SERIES A, B, C OR D AS THE CASE MAY BE
IN THE APPROPRIATE PLACE.

You have to enter your Roll Number on the Test Booklet in the Box provided at the top. DO NOT R

write anything else on the Test Booklet.

This Test Booklet contains 100 items (questions). Each item is printed both in Hindi and English. [0 2

Each item comprises four responses (answers). You will select the response which you want to mar

on the Answer Sheet. In case you feel that there is more than one correct response, mark the responsel " {

which you consider the best. In any case, choose ONLY ONE response for each item.
You have to mark all your responses ONLY on the separate Answer Sheet provided.
All items carry equal marks. -

Before you proceed to mark in the Answer Sheet the response to various items in the Test Booklet,
you have to fill in some particulars in the Answer Sheet as per instructions sent to you with your

. Admission Certificate.

After you have completed filling in all your responses on the Answer Sheet and the examination has
concluded, you should hand over to the Invigilator only the Answer Sheet. You are permitted to take
away with you the Test Booklet.

Sheets for rough work are appended in the Test Booklet at the end.

Penalty for wrong answers :

THERE WILL BE PENALTY (NEGATIVE MARKING) FOR WRONG ANSWERS MARKED BY
A CANDIDATE IN THE OBJECTIVE TYPE QUESTION PAPERS. '

(@) There are four alternatives for the answers to every question. For each question for which a

wrong answer has been given by the candidate, one-third of the marks assigned to that question
will be deducted as penalty.

(i) If a candidate gives more than one answer, it will be treated as a wrong answer even if
one of the given answers happens to be correct and there will be same penalty as above for
that question.

(7)) If a question is left blank i.e. no answer is given by the candidate, there will be no penalty
for that question. _ ;

No marks shall be awarded for scrapped question(s).

In case of any discrepancy found in English and Hindi Version in this paper, the English Version may be

treated as correct and final.

CARRYING AND USE OF ELECTRONIC/COMMUNICATION DEVICES IN EXAMINATION HALL

IS NOT ALLOWED. : .

DO NOT OPEN THIS TEST BOOKLET UNTIL YOU ARE ASKED TO DO SO

Note : Hindi version of the instructions is printed on the back cover of this Booklet.
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Podu form of shifting cultivation is popular in which of the following states

of India ?

(A) Odisha (B) Assam

(C) Kerala (D) Chhattisgarh

T W g, T WA B FreAfafan § Q frg w § devd ¥ 2
(A) fesm (B) &M

(d) EoG | | (D) SR

2. Shisgars are the skilled workers of :
(A) Polymer Ind.ustry (B) Gl'a;és Industry
(C) Drug Indﬁstry (D) Ceramics Industry
R w5y ’Hﬁ:ﬁ? T
(A) e wedm & (B) e wam
(© shefe wdm @) < g wEm

3. Lyons is a major industrial town of : |
(A) france | (B) Spain
(C) Germany (D) Italy
A Tw ged Sieife I ¥ |
@ W ®) &7

. (C) - . O w
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4. Given below are two statements :
Statement I : Escurial is a famous structure of France.
Statement II : Brandenburg Gate is a famous structure of Jerusalem.

' 1 f
In the light of the above statements, choose the most appropriate answer from

the options given below :

(A) Both Statement I and Statement II are correct

(B) Both Statement I and Statement II are incorrect
(C) Statement I is correct and Statement II is incorrect
(D) Statement I is incorrect apd Statement II is correct
R & we Ry M ¥

w1 @ WERd HE F AEG A T

FHUA I1 : ST T2 SRHeH H TH g T g

sufifafen ®edl @ YR W A= R T fwed § 3 ged st S W gE
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5. Given below are two statements :
Statement 1 : Patsari river is a small tributary of Tons river.

Statement II : Patsari river originates near Kharapather in Shimla district.

In the light of the above statements, choose the most appropriate answer from

the options given below :

(A) Both Statement I and Statement. II are correct

(B) Both Statement I and Statement II are incorrect

(C) Statement I is correct and Statement II is incorrect

(D) Statement I is incorrect and Statement II is correct

™ q w9 g 7w ¥
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6. Given below are two statements :

Statement I : Bara Shigri glacier was first surveyed by Walker and Poscoe
in 1906.

Statement II : Bara Sﬁigri is the largest glacier in the state of Himachal
Pradesh.

In the light of the above statements, choose the most appropriate answer from

the options given below :

(A) Both Statement I and Statement II are correct

(B) Both Statement I and Sta]:ement IT are incorrect

(C) Statement I is correct and Statement II is incorrect

(D) Statement I is incﬁrrect and Statément IT is correct

= € %y g M ¥ ;o . _
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7. Arrange the following states of India from highest to lowest flood prone area -

(1) Bihar (2) Punjab

(3) Rajasthan ‘ (4) Uttar Pradesh

- Choose the correct answer from the options .given below :
(A) (2), 4), (D), 3) (B) (4), (1), (2), (3)
(C) (4), (3), (2), (1) D) (1), (3), (2), (4)

9y & frafafed T | sy § =Een 9 geifad A5 § YR W FAEAd

(1) fe=Rr | ' (2) U _

(8) TsRYM (4) SW WA

2w o fawed # A W@ SW w1 gE FeE »
A) @), @), (1), 3) B) @), (D), @), 3)

(C) ), 3), (2), (V) M (@, 3), (2), 4)

8. Arrange the following centres of cotton textile industry in Indla from north

to south : ;

(1) Phagwara ' (2) Cuttack

(3) Guntur - (4) Tirupati

Choose the correct answer from the options given below :
@A) @), @), 3), @ B) @), (3), @), ()

(C) (2), 4), (1), (3) D @), @), (2), 4)

ara # g ae sEm @ Frefdafen FE R IR ¥ P R § owwfenm
A

(1) wErE (2). ®eH

3) TR - (4) faoufa
.ﬁmmmﬁaaﬁwwwﬁﬁa |
(A) (1), (2), 3), @) | B) 4), (3), (2), (1)
(©€) (@), @), (1), 3) D) (@), 3), (2), (4)
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9. .Arrange the following countries of Europe from East to West :

(1) Ukraine (2) Belgium

(3) Poland (4) Germany

Choose the correct answer from the options given below :
" A) ), 3), @), (2) ' (B) (@), 3), @), (1)

©) ), @), @), (3) D) (@), @), (1), 3)

N & Freifafea 9 &) 9@ A ofvey &1 3R waftag Sia

1) T 2) afem

(3) dicis | 4) R

R R T e § ¥ @ W @ T SR

(A) (D), 3), 4),2) (B) (@, ®), @, (D

©) ), (2),®, 3 D) (2), @), (1), (3)

10. Consider the following statements :

(1) Simlipal biosphere reserve is in Tamil Nadu.

(2) Panna biosphere reserve is in Madhya Pradesh.

(3) Bhadrak mangroves pertain to Odisha.

(4) Gulf of Kutch is the largest mangrbve of India.
.Choose the correct answer from the options given below :
~(A) (1) and (2) only (B) (1) and (4) only

(C) (2) and (4) only (D) (2) and (3) only

Fefafed Fai | R i .

(1) Toufeue emfye Jersa affemig o fom 3

(2) 1 RfE@ Sewed A wew § fiug )

3) wEw Hia @1 "ey 3fewm F ¥
@) =5 H T F IRG H TR 91 Ty T
R e T fowed # ¥ 9@ SW w1 e wity .

 (A) HEd (1) 3R (2) (B) wHad (1) 3fRr (4)
(C) e (2) 3R (4) D) F=a (2) ik (3)
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11. Consider the following statements :

(1) Tel is a right bank tributary of Mahanadi.

(2) The delta of the Godavari river is lobate type-
(3) Bhima river originates from Raj Mahal Hills.

(4) The Penganga river is 300 km long and rises from
Choose the correct answer from the options given below :
(A) (1) and (2) only (B) (1) and (3) only
(C) (2) and (4) only (D) (1) and (4) only
frfafea wom | faar Fifva .

(1) ¥ TEE H gl fFR H weEs Ad B

(2) TR T E e wEw pEvs () ER HOEL
3) offm T Tomed i weifsdl ¥ frwer @

(4) Fim @ 300 FEd e ¥ sl wage wetedi & Frwed ¢
2 fu e § ¥ W@ SR B g R

(A) Fae (1) 3R (2) - (B) e (1) 3 (3)
(C) ®aa (2) IR (4) (D) Faa (1) ¥R (4)

12. Consider the following statements :

(1) Essex city is famous for engineering works.

'(2) Leeds city is famous for watches production.

(3) Baku city is known for cutlery industry.

(4) Abadan city is known for oil refinery.

Choose the correct answer from the options given below :
(A) (2) and (4) only (B) (3) and (4) only
(C) (1) and (4) only M) (1) and (2) only
frafafed FoA R fa=R wiA

(1) T TR SSitEeT SEm % fae S oS g

@) ieg v ufedi & rA % fau uies ')

(3) 9 TR F Fee @M % AU A S g

(4) FEEA TR ad e B faw S oA g

3 fou U el # ¥ W SW W YA wND

(A) Bad (2) X 4) (B) Fa (3) 3R (4)
(C) $ad (1) 3R (4) (D) ad (1) 3R (9)

Satpura Hills.
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13. Match List I with List II :

(a)
®)
(c)
(d)

List I
(Glacier)
Baltoro
Sonapani s
Milam
Zemu

List 1I
(Range/Region)
@  Pir Panjal
(). Kanchenjunga-Everest
(iii) Karakoram

(iv) Kumaon-Garhwal

Choose the correct answer from the options given below :

(@ B) @© (@

et I
(Srott/ =)
@ IR verA
() HITTH-TEE
(@) HRHRH

(A) Gi) ) @) ()

“B) G G G G

© G 6 G @)

M) Gi) Gv) G G

gt 1@ get 11§ frew sifeg
a1 :
(ATR)

(@) SRt

(b) ST

(c) Taem

@) 9

(iv) HAG-TeTd

T2 R T famedi 4 @ ¥ S|W F T S -

(A)
(B)
(C)
D)

(@ G @ (@

@) @ @O ()

) G) () @)
@) @ @ G
@) Gv) @ )
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. | | §
14. Match the forest cover area/type with their total area in Himachal Prades
(2021) : - -

List I List II
(Density/Total Forest Cover) (Area in sq. kms.)
(@) Very dense forest above () 7,100

70 percent ’
(6) Moderate dense forest (@) 5,180
' 40 to 70 percent _
(c) Open forest 10 percent @) 15,443

to 40 percent _
(d) Total forest cover - () 3,163
Choose the correct options :
@ ) @© @@
(A) @ O @ )
B) @ @) Gv) G)
C) @ v @ G0
M @ 6 G G : | _
feared wew H (2021) ISicd &9 F TE/E 1w AAFa A e LR .
gt I g 1O
(S T &/TE) & (i feenden
(@ T a1 (70% 9 3fu=w) @ 17,100

(b) WA TH I (40%-70%) @) 5,180
| ) Ed I 10%-40% (i) 15,443

(d) &HA FArICd (iv) 3,163

¥ g Ty famed § TR IW F T FAfAE oo
@ B O @

A G @ @ @)

B) () @) Gv) @

(C) G @ @ @)

M) G) @ G @)
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15. Match List I with List II :

List I List II

(City) (River)
(@) Warsaw (i) Vistula
(b) Lisbon (i) Tagus
(¢) Hamburg | (i) Elbe
(d) Bristol (iv) Avon

" Choose the correct answer from the options given below :
@ ) @© @@
A @ @ @) Gv)
B) @) @) @G @
(C) @ @ @ @)
® O G G 6@
I W g I 9 e s

gt 1 . - gEr II

(T | | (&)

(@) =i . @ fogen
() fogem @) T
(¢ ®Had (i) TS
@ foea (i) T

ﬁ%ﬁqwﬁmfﬁﬁﬁﬁwmﬁﬂmm:
@ ®) @ @

A) G G G Gv)

B) () Gi) @ 6

©) G) Gv) @ Gi)

M) () @) ) (Gu)
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16.

17.

18.

TBC :

Who described the Indian economy as “Bullock Cart Economy” ?

(A) Granville Austin (B) Atul Kohli

(C) Lloyd and Sussane Rudolph (D) Rajni Kothari
fort s sforen @ dad A e’ w2
(A) THfaa e - (B) 3q@ e

(C) 9He T T wWew (D) T FreR

Council of Ministers’ size has been restricted to 15 percent of membership of

Lok Sabha by which constitutional amendment ?
(A) 91st Amendment - (B) 92nd Amendment
(C) 95th Amendment (D) 103rd Amendment

mﬁwmmmﬁmmnmﬁmm 15 gfae 9
Hithg &t T 2

(A) 915 GsheH " (B) 92§ i
(©) 953 Wl | D) 1033 Geem

Who among the following was not a member of the Advisory Council for Him achal
Pradesh which was constituted on Sept. 30, 1948 ?

(A) Swami Purnanand (B) Mehta Avtar Chand
(C) Lila _Devi (D) Satya Dev Bushahri

301’9@?19483%%@%9@3%%%15%?_&%%‘
T oar ? R

(A) T quiTS (B) & /R wg
(©) e - D) T Y e
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19. Given below are two statements :

Statement I : Finance Minister is final authority to decide whether a bill

is money bill or not.

Statement II : In Indian system of ‘dyarchy’ was introduced by Government

of India Act, 1935 during British period.

In the light of the above statements, choose the most appropriate answer from

the options given below :

(A) Both Statement.I énd Statement II are correct

(B) Both Statemenf I and Stafement IT are incorrect

(C) Statement I is correct and Statement II is incorrect

. (D) Statement I is incorrect and Statement II 1S correct

R A we faw Mo E .

AT #ﬁamﬁa%mﬂﬁm#ﬁq%ﬁﬁﬁﬁm%u

wn:_ﬁ&wmﬁwaﬁrﬁm, 1935%§mwﬁ“§awm"m
far |

sqﬁf%rﬁgamﬁ%wwﬁ%ﬁqmﬁmﬁﬁ@m‘mmmw

HioA ‘ ' |

(A) F 1 3R For 11 3 wdt ¥

(B) F9 I R e II i o &

(C)wrwa%ai‘nfﬁmnwaa%

(D) &7 I 7o & 3R *om 10 9t &
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920. Given below are two statements :

. temple
Statement I : B.R. Ambedkar started Vaikam Satyagrah in 1924 for p

entry of untouchables. |
Statement II : Jyotiba Phule was not associated with Republican Party.

In the light of the above statements, choose the most appropriate answer from

the options given below :

(A) Both Statement I and Statement II are correct

(B) Both Statement I and Statement II are incorrect
(C) Statement I is correct and Statement II is incorrect

(D) Statement I is incorrect and Statement II is correct

’ﬁ%ﬁw‘*ﬁ‘lm{%:

=d

FOT L I % Afex # TAw ¥ AR, sEEHt ¥ 1024 # Y weawE Wy
ERIf |

mll:ﬂﬂﬁmqﬁﬁqﬁaﬂmgﬁ%ﬁal

SUiffed woll & SR | A9 Ru v fywed =
i qq -
SR ! mﬁaﬁa_mmw

(A) &9 I 3R FoF 11 3 w8 F
(B). Fe 1 iR &e II 3 o §
(C) 97 1 & ¥ 3R %9 11 7o &

(D)EWIW%ﬁzﬁmH@%

TBC : 24/ECP/I—B 14



21. Consider the following statements regarding Panchay'ati Raj system in Himachal
Pradesh.

Statement I ;: In 1949, the Punjab Village Panchayat Act of 1939 was
enforced and 132 panchayats were established in Himachal.,

Statement II - By the end of 1956, there were 468 Gram Panchayats and
26 Tehsil Panchayats in Himachal.

Choose the correct option from the following :
| (A) Both statements are correct

(B) Only statement I is correct

(C) Only statement II is correct

(D) Both statements are incorrect

R W & vt v @ W Fe e T frem
FIT I 2 1949 § IS UM verEm sifufm, igsgmfﬂrwﬁr{ 132 Jurgq

fearea & wnfm 5 o

9T 1T : 1956$3iﬁﬁﬁmaaﬁ466mﬁﬂmﬁ3ﬂ?2633ﬁam of |
Fefafea fowedl 4 @ 98 3w ‘g’ﬁq :

(A) TFI w9 TE §

(B) 9% wa7 I wd ¥

(C) faw =ua 11 w&t %

D) 3 Fe WA T E
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22. Which of the following statements are co:_‘rect_ in relation

Information Act '7

(1) This act came into force on 12 October 2005.

(2) It repealed the Official Secret Act, 1923.

(3) It replaced the Freedom of Information Act, 2002.

(4) It does not protect ﬁ‘eedom of expression 'and speech under Article 19.

Choose the correct answer from the options given below :

(4) (2), 3), (4)

(B) (1), (2), (3)

(©) (3), @), (1)

(D) (1) and (2) _

frefefian % 3 B o qom 3 sfren B @ iy § wd o
D) & AfufEe 12 SR, 2005 #t @ g

(2) mﬁmﬁaﬂﬁwaﬁrﬁm 1923 =1 fw = faon

(3) T o w T stfufem, 2002 | sgw fem

@ Waﬁwﬁmwaﬁmaﬁmﬁ;ﬂmmﬁm%l _
ﬁ%ﬁnmﬁﬁﬁﬁuﬂmmwaﬂm;
(A (2), 3), @) |

(B) (1), (2), (3)

©) 3), @), Q)

D) (1) = (2).

TBC : 24/ECP/I—B ' 16



23. Consider the following statements :

(1) Baba Kansi Ram was a great freedom fighter of Himachal Pradesh.
(2) He was influenced by Gadar Party.

(3) He took oath to wear Black Clothes till India gets independence.
(4) He was given name of “Pahari Gandhi” by Sarojini Naidu.
Choose the correct answer from the options given below :

(A) (1) and (2) only

(B) (2) and (3) only

(C) (1) and (3) only

(D) (4) and (2) only

Frefafes sw w fer Sk .

1) Wmmﬁwmﬁmmmﬁmmm

(2) % T el |/ ynfaq a.'

@) I%H g o fF ARG w1 TR Wi W F T

(4) 3% WARE g 3 vert R am e
ﬁ%ﬁqwﬁﬁﬁauﬁw.wmﬁﬁr& :

4) Fa@ (1) 3R (@) '

(B) %aw (2) 3K (3)

(C) &ad (1) 3K (3)
- (D) wad (4).31% (2)

TBC : 24/ECP/I—B 17 PGl



24. Consider the following statements :

. i Raj Act
(1) Mandi was first state in Shimla Hill States in which Panchayati Raj
was passed.

(2) During freedom movement Lala Lajpat Rai never visited Mandi.
(3) Non-cooperation Movement did not start in Himachal Pradesh.
4) R.ajkumari‘Amﬁt Kaur from Shimla conducted Quit India Movement.

Choose the correct answer from the options given below :

(4) (1) and (2) only

(B) (2) and (3) only

(C) (3) and (4) only

D) (4) and (1) only .

Frafefan wedi w fram SR

@ W%Wﬁﬁﬁmwmaﬁﬁmwwwwn.'
2) Wm%mmmmmﬁaﬁmn

3) ma@mﬁwﬁau&mﬁm-aﬁmug
(4)w§qﬁam%ﬁmﬁﬂm@©mml | -
R R T e § ¥ W@ SR W T R ‘
@) @ @ 9K @) ' | .y
(B)éaa(.?)ﬁ?@)

(C) &5 (3) R @)

D) Sa (4) 3R (1)

TBC : 24/ECP/I—B 18



25. Consider the following statements :
(1) Constitution amendment bill can be

introduced in any house of the
parliament,

(2)
(3)

Centre and States have equal power to amend the constitution.

Amendment ip the seventh schedule requires the ratification by the
legislatures of not Jess than half of the states.
(4)

Basic structure of the constitution can also be amended.

Choose the Correct answer from the options given below :

(A) (1) and (3) only
(B) (2) and (3) only
- (©) (4) and (1) only
(D) (2) and (4) only
Fafafen s = far 53k .
(1) ﬁmﬁ#&ﬁmﬁaﬁm%ﬁﬁ%ﬁmﬁﬁmﬁwm%r
() #ﬁuﬁ%mwma%ﬁaﬁwmm%r

(3) #ﬁmaﬁamﬁamﬁvﬁaﬁa%gmﬁmwﬁmvﬁqﬁﬁﬁm
& ¥ |

(4) WYMo R A f e few s w3
1 Ry T el § 3 W@ S W g e
@A) @& (1) 3K (3) |

(B) &ad (2) 3R (3)

(C) Baa (4) 3R (1

D) Had (2) 3R @)

TBC : 24/ECP/I—B ' 19 ' P.T.O.



26. Consider the following statements : —

Which of the following are included in the original jurisdiction of Sup
Court ? |

(1) A dispute between Govt. of India and one or more states.

(2) A dispute regarding elections to either House of Parliament.

(3) A dispute between Govt. of India and a Union Territory. .

(4) A dispute between two or more states.

Choose the correct answer from the options given below :

(A) (1) and (2) only

(B) (2) and (3) only

(C) (1) and (4) only

M) (3) and (4) only

Q) T TR IR T AW T ¥ Ao T S wem fae
(@ #ﬁa%ﬁﬁsﬁwaw%%ﬁm

() WA TR M IR Rt F 7w foa
(4),a‘rm€r%aqﬁ:$m§;mﬁaﬁ
ﬁmwwﬁﬁﬂﬁwquﬁﬁa:

A) =@ (1) 3k (2)

(B)ﬁaa(z)‘aﬂt(m

(C)%ﬁa(l_)aﬂ'(@)

D) Faa (3) iR (4)

Gt
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27. Consider the following statements :

(1) There is no mention of no-confidence motion in the Constitution of India.
(2) A motion of no-confidence can be introduced in any house of the Parliament.
(3) A money bill can be tabled in either house of Parliament.

(4) The President cannot return a money bill to the Lok Sabha for
reconsideration,

Choose the correct answer from the options given below :

(A) (1) and (2) only

(B) (3) and (4) only

(C) (1) and (4) only

D) (2) and (3) only

Fafafes wad w famr SR -

) s # wfaue F s w1 s 1@ b

@) ammwmﬁﬁwﬁwﬁmﬁwmmmﬁl
3) Wﬁﬁm@ﬁ%ﬁmtﬁmﬁﬁﬁamaﬂmif
@) TR W A R g T e
ﬁaﬁqmﬁwﬁﬁﬂwﬁm“ﬂwaﬁﬁﬁ:

(A) HFd (1) 3R (2)

(B)QEIF;(B)GﬂI(4)

(C) @aa (1) 3R (4)

@) B (2) 3K (3)
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28. Match List I with List II :

List 1 List II
(@) Habeas Corpus Writ () Re-examining Lower Court records
by Superior Court
() Mandamus Writ | (i) Exercising Power under which
’ authority
(¢) Certiorari Writ ‘ (iii) Restricting officials to act
(d) Quo Warranto Writ (v) To produce in person
Choose the correct answer from the options given below :
@ ) @ @
(A @ @ Q@ QG
B @) @ @ @
() G(v) @) @O @
M) @ @ @ @)
T I W get 11§ frem s e
Tt 1 Tt 10
(@) T TR AR ) Sfres =arTe g T = @ e
®) TERA . () T @@ & oA wfsd 9an
(€) ST IR (i) A @ FEAE WU
(d) ATUHRY=S Y (ip) AR T H I

43 fru T el § @ W IW W T HA
@ ® © @@

A @ ). Gv i)

B) Gi) @ @ @)

© Go) Gi) @ @

O G) @ 6 G

TBC : 24/ECP/I—B 22



29. Match List I with List II :

List T List II
| (Commissions) (Years of Establishment)
(@) National Commission for Women (@ 1953
() National Human Rights Commission (1) 1992
() Kaka Kalelker Commissjon (i) 2005

- (d) National Commission for Protection (iv) 1993
of Child Rights
Choose the correct answer from the options given below :
@ @ © @@
A @ G 6 G
B) O G G Go)
(C) (i) @ @ @
D G G) G G
Tt I w0 g= 11 @ fram wifed ;o '
et I | et 11

| (3 = - (v o)
(@) U7 wfeen smEm b @ 1953
(b) T AR &M @) 1992
(€ FH FRIGH AET - @) 2005

(d) T e AfEwR e Gv) 1993

9 e T fwed § 4 W@ W W T Wi

@ B @ @

A) @ @ O @)

B) G G) i) (@)

©) @) @ @) @ | o
D) Gv) @) @& @



30. Match the Members of Legislative Assembly of Part ‘C’ state of Himachal Pradesh
from Mandi District (1952-56) with respective constituencies : _

List I ' List II
(Name of the Members) (Name of the Constituency)
(@) Gauri Prasad (@) Joginder Nagar
(b) Karam Singh Thakur () Karsog
(c) Besar Ram (ii1) Rewalsar
(d) Rattan Singh . (iv) Mahadev

Select the correct choice
@ B @© @

A) @) @) @) @)

B @ @ @ G

© O @ G Gi)

M) @) @) G) @) '
"ot et § (1952-56) ‘TR W' www B faum ww e w1 o OUA 9 g
& ¥ fiom iy ¢ .

e 1 et 10
(Fe=m &1 ™) : (TTa &%)
(@) T wER @) S TR
®) wd g I () TR
(©) W ™ (i) RameR
d) W= fag (fv) weRE

Y R T e § W@ S W g R
@ ® © @

Q) Gi) @) @ @

®) @) @) 6 G

© & G Gu G

D Gv) G G 6

TBC : 24/ECP/I—B 24



31.

32.

TBC : 24/ECP/1—B 25

Till when the Indian government has extended the Pradhan Mantri Gharib
Kalyan Anna Yojana ?

(4) December 2026 (B) December 2027

(C) December 2028 (D) December 2030

S S R R S S S S T
(A) fEE=R 2026 B) feHaw 2027

(C) few=r 2028 | (D) f&=R 2030

Economic Growth in country X will necessarily have to occur if :
(A) There is technical progress in the world economy

(B). There is population growth in country X

(C) There is capital formation in country X

(D) The volume of trade grows in the world economy

T X # onfe fawre e wU A A i af .

) frea oo § e i

(B) 2w X # e ofg ¥

(©) 2w X # It fmior &

©) Frea s R A b

ET.O.



33. Suppose, the poverty line as measured by Monthly Per Capita Expenditure
is Rs. 1,000.

MPCE (in Rs.) of 10 Households

State A| 800 | 850 | 900 | 950 | 1200 | 1100 | 1150 | 1050 | 1250 | 1300

State B 400 | 450 | 560 | 650 | 1100 | 1200 | 1300°| 1350 | 1250 | 1400

Statement I : Head Count Ratio of State A is less than Head Count Ratio
of State B.

Statement II : Poverty Gap Ratio of State A is less than Poverty Gap Ratio
of State B.

In the light of the above statements, choose the most appropriate answer from

the options given below : .

(A) Both Statement I and Statement II are correct

(B) Both Statement I and Statement II are incorrect

(C) Statement I is correct and Statement II is incorrect

(D) Statement I is incorrect and Statement II is correct
A difse, wifgs i =afe =@ go =t 8 Tdst T 1,000 92?1

10 SRERT =1 THTEE (F99 ®)

I A 800 | 850 | 900 | 950 | 1200 | 1100 | 1150 | 1050 | 1250 | 1300

waB | 400 | 450 | 550 | 650 | 1100 | 1200 | 1300 | 1350 | 1250 | 1400

Faq I : mAm%zmﬁWWBﬁ%‘swaxwﬁm%.
&g I : G59 A & T0et 3R I T B & Tl 3 Iqum ¥ wW ¥
mﬁﬁf@aaaﬁﬁwmﬁﬁqmﬁaﬁﬁﬂmaﬁmmmw
e

(A)WI&%\'{WII%F@%

(B) FvA I 3R %o II Il e €

(C) = I & ¥ 3R &ud II II o a ¥
D) Fg7 I Tod & AR FIF 1 II |6 ®

TBC : 24/ECP/I—B : 26



34. Given below are two statements :

Statement I : Trickle Down Theory says that let business flourish, since their

profits ultimately trickle down to lower income individuals.

Statement II : Economic Theory predjcfs that inequality will increase during

recessions and decline during economic booms.

In the light of the above statements, choose the most appropriate answer from

the options given below :

(A) Both Statement I and Statement II are correct

(B) Both Statement I and Statement II are incorrect
(C) Statement I is correct and Statement II is incorrect
(D) Statement I is incorrect and Statement II is correct
= § w9 g M€ -

w7 1 : ﬁwwzﬂﬁmﬁ%%wﬁmﬁ—wﬁé ﬁ%mm
siqq: &9 T A R B TG F o

=99 I : e fagia wfasgamh &t § 6 b9 & SRe s aert 3R snfides
3@ $ orM firme st |

Suffafed Fadi @ omuR W A= fir T fawedi § § @ 3fad@ W w1 TH

ey _

(A) ®99 I 3k F97 I 31 98

(B) Fod 1 3k wo II 3 Ted &

() FaF 1 W@ & iR Fo I T &

D) ®oF 1 Tom & 3R Fo I T ¥

TBC : 24/ECP/1I—B 27 P.T.O.



35. Given below are two statements :

:Jates have
Statement I : As of December 2023, around 1.3 crore candid

received training under PMKVY.

T ve been
Statement II : Out of these candidates around 60 lakh individuals ha
* placed.

: from
In the light of the above statements, choose the most appropriate answer

the options given below :

(A) Both Statement I and Statement II are correct

(B) Both Statement I and Statement II are incorrect
(C) Statement I is correct and Statement II is incorrect
(D) Statement I is incorrect and Statement II is correct

w1 : U 2023 9%, TV 1.3 FUS IofeaRi ¥ PMKVY  ded Sere
< fEar T |

mn:yaﬁmﬁﬁﬂwwmaﬁﬂﬁﬁ%ﬁﬁﬁ%f

mﬁﬁﬁaaamﬁi%wm.ﬁ%ﬁqwﬁmﬁﬂmaﬁamww
Fifsa | '

(A) w94 I 3R Fo7 11 34 o ¥
(B) &¥ I 3R Fg7 II 3 To@ &
(C) o7 I W&t ¥ R &97 II Toa ¥

(D) FH I T ¥ IR FR I GE R

TBC : 24/ECP1I—B 28



36. Given below are two statements :

Statement I : The volume of E-way bill generation in India continues to

grow steadily.

Statement II : Rail freight traffic and port cargo traffic are growing at a
healthy pace.

In the light of the above statements, choose the most appropriate answer from

the options given below :

(A) ‘Both Statement I and Statement II are correct

(B) Both Statement I and Statement II are incorrect

(C) Statement I is correct and Statement II is incorréét

(D) Statement I is incorrect and Statement II is correct

X w Ry E .

@O L : W H 3 fae SRR W W TR g b

w9 10 : iawmmmﬁnmmmawwﬁﬁagm%u
mﬁﬁﬁmm%wmﬁﬁqmﬁﬁﬁ%maﬁammw
i |

(A) Fo I iR w7 11 A wdt §

B) F9 I 3K Fo 11 26 Tom §

(C) Fo I 9@ ¥ 3R Fo I o &

(D) *o I e § 3R Fud 11 98 &

TBC : 24/ECP/1—B 29 PTO



37. Consider the following Health programmes and policy :
(1) The National Health Policy
(2) National Health Mission (NHM)
(3) National Rural Health Mission (NRHM)
(4) National Urban Health Mission (NUHM)

: . bove, in terms
With reference to the Health programmes and policy mentioned above, 11l ;
- r -

of their starting year which one of the following is the correct order yea

Choose the correct answer from the options given below :
(A) (1), (3), (2), (4)

B) (1), (2), 3), (4)

(©) (), 4), (1), (3)

M) 4), (1), (3), (2)

Frefofas @res sds R i w faur S0 .

(1) <™ wWre Hifa '

(2) & WA fF (TeETm)

(3) U UMV WreE v (THIRTET)

) T el @R A (TR

Sufefia wree Fwd S Fifn F w2 § o i 9 @ wed § freftes
HYF99 & 98 59 99 § 2 |

e fw T fawed ¥ ¥ wd W w1 gE iRy -

A M), 3), @), @

(B) (1), (2), 3), 4@

© @), @), 1), B3

M) @), (1), 3), (2)

TBC -: 24/ECP/I—B - 30



38. What is the correct order of various social service schemes in India according
" to year of origin ?

(i) Pradhan Mantri Jan Dhan Yojana

(2} Sukanya Samriddhi Yojana

(3) Rashtriy Swasthya Bima Yojana

(4) National Social Assistance Scheme

Choose the correct answer ﬁ-om the options given below :

A @), (@), 8), 4)

(B) 4), (3), (1), (2

© @, @), @, 1)

D) ), @), 4), (3) S . :
wra # fafi= wmfoes ¥ demell @ sty o @ oER W w9 @ & 2
Q) TuE W 99 v9 Ao

@) gF= wgfe e

(3) UK @R &= 4N

) T W e AT |

T e T el § A W W W TR FA .
@) @), @), 3), @

®) @), ), 1), @)

(C) @), 3), (2), (V)

O ), (2), @), 3)

TBC : 24/ECP/I—B 31 PT.O.



39, With reference to the steady decline in the mortality rate over the years, consider
the following statements :

(1) Control of epidomics such as cholera and smallpox
(2) Expansion in incidence of malaria and tuberculosis
(3) Contraction of education and decreased literacy

(4) Improved sanitation and hygicne.

Choose the correct answer from the options given below :
(A) Q) and (4) only

(B) (2) and (3) only

(C) (1) and (2) only

(D) (2) and (4) only

frod oo oW § 7g « § o frme B W 4, Prefafen FE w fER
HfR

1) ¥en ol 5w S weniE W

@) wafm IR TARE F wemel # fwm

@) foan @1 S R mawa 7w

(4) = 3R WE-uEE d guRr

3 frg T el § R ER IR LA FE
(A) Faa (1) A @)

(B) a5« (2) 3R (3)

(€) daa (1) 3 (2)

(D) et (2) W @)

TBC : 24/ECPI—B 32



40. Consider the following statements :

(1) Himachal Pradesh Government approved an outlay of 1200 crore rupees
for economic services during 2022-23. ’

(2) Himachal Pradesh Government approved an outlay of 267 crore rupees
for rural development during 2022-23.

(3) Himachal Pradesh Government approved an outlay of 140 crore rupees

for Mahatma Gandhi National Employment Guarantee Scheme during
2022-23.

(4) Himachal Pradesh Government approved an outlay of 22 crore rupees for
Forestry and Wildlife during 2022-23.

Choose the correct answer from the options given below :

(A) (1) and (3) only

(B) (2) and (3) only :

(C) (1) and (2) only

D) (3) and (4) only

frefafes 9 | fa=r Fifa3 :

(1) feo=a w9 TR A 2022-23 & WA fds Jarsi & faw 1200 Fis 793
& uitema & Al D)

(2) femree wo@ FW@R 7 202223 B <N I o & fg 267 Fg TR B
itz &1 G o)

(3) Tearae WU THR ¥ 2022-28 F INA HelA Tt TKF SR MRS e &
faT 140 s T & wRemg N A T

4) ﬁgmaauﬂmwnﬁ%zz%%ﬂmmﬁﬁaﬂtm%mzzm
T & ufeg @ G

9 fu U T § ¥ W SN F A ST
(A) @ad (1) 3R (3)
(B) % (2) 3R (3)
(C) Jaa (1) 3R (2)
(D) Saa (3) 3R (4)

TBC : 24/ECP/I—B 33 . P.T.0.



41. Match List I with List II -

List I

(@) Sandeep Shastri

(b) Kalpana Srivastava

(¢) N. Neetha

(d) Mridul Eapen

List II
() “Gender Demographics and
Empowerment in India”

(i) “Demographic Profile and Health
Status of Older Adults in India”

(iii) “Demographic Dividend in India :
Myth or Reality”

(iv) “Demographic Shift and its Impact
on Indian Politics”

Choose the correct answer from the options given below :

(@ (&)
(A) ) @)
B @
(C) Gv) @)
M @ @)

@Iaﬁqﬁrnﬁgﬁmﬁm

T I
(@) T9 v

(c)
(@)
(1)
@
(iv)

(b) wEET siarad

(o) . i

@ & T

(d)

(w)
()
(1)
@)

gt 10

¢ ‘v # fon smaifeast iR sifveiar”

(i) Wﬁmﬁaﬁwaﬁtmﬁgaﬂﬁﬁ
H W i

(i) ‘'WRd d Snwifers @ o fRuew @
qrafaear 2"

(i) maif@aﬁqamﬁa?ﬂm—cﬂamﬁﬁtm
& W’

‘ﬁ%ﬁqwﬁaﬁﬁﬁﬂﬁﬁ?ﬂwaﬁm

(@ @)
@A) @ 6
B) @ @
© G @
O @ @

TBC : 24/ECP/I—B

(c)’
@)

(i)
@
(tv)

(d)
(iv)
(iv)
()
)

34




42. Arrange the following Committees in proper chronological order of their
establishment :

(1) Alagh Committee (2) Tendulkar Committee
(3) Rangarajan Committee (4) Lakdawala Committee
Choose the correct answer from the options given below :

(A) (1), 4), (2), (3) (B) (2), (1), 4), 3)

(C) @), (2), (3), (1) M) 3), (2), (1), @)
frefafan wftfdl = S o $ S FragEe § oared Hid
(1) 37w Tfafq (2) tgaw giAfd

(8) TWeM wfufa - (4) AHeEE wiHfd

2 e T freed § Y wE SN @ T FR

A) (1), @, @), 3 - B) (2), (1), 4, 3

©) @), @, ®),Q @) (3), @), (1), (@)

' 43. Arrange the following events in proper chronological order :

(1) Mahbul-ul-Haq prepared the HDI (Human Development Index)

(2) Morris D. Morris developed the PQLI (Physical Quality of Life Index)
(3) Alkire and Foster developed the MPI (Multi-Dimensional Poverty Index)
(4) The term ‘Gross National Happmess coined by Bhutan’s kmg Jigme Singye

Wangchuck
" Choose the correct answer from the options given below :
LA @), @, 2,3 B (@), (1), 4), 3)
(C) (4); (2), (1), (3) ® 3), 2), 1), 4

frfefaq geael @ Sfad FenRd § SERkYd Sited

(1) TeqE-So-eF T (ST (e e gEeis) war

@) W@ €. wf@m ¥ PQLI (fefvsa waifedt 3w os® s8w) fawfam fean
(3) TR SR WX A MPI (SgeErit Wist gaw) fasiaa e |

(4) w%wﬁlﬁrmmmww Wu@iuqaﬁ NiC
ﬁmmﬁmﬁﬁ@w{?ﬂgﬁmm

(A) (1), (4, (2), 3) B) (2), (1), 4), 3)

(€) @), 2, D, 3) - M) 3), @), (1), 4)

TBC : 24/ECPI—B ° 35 : - P.T.O.



‘44, Match List I with List 1T .

(a)
- ®

() .

(d)

List I
SDG 2
SDG 5
SDG 8

SDG 10

List II
(® Decent Work |
(@) Zero Hunger
(iii) Gender Equality
(i) Reduced Inequality

Choose the correct answer from the options given below :

(A)
®)
(©)
)

(@ @)
@) i)
@ ()
@) Gi)
Gv) @

(c)
(@)
((779)
(iv)
@)

()
(iv)
(i)
@)

(@)

T I H g IR P SR

=t I |
(@) THSISH 2
(b) TEESSH 5
(c) THSISt 8

(d) TESST 10 .
T2 Ry T fawed d § W SW w1 W F9g

A)
(B)
(0)
D)

@ ®
@) (i)
@ ()
(i) (@)
@) @

TBC : 24/ECP/I—B

(©
@
(i)
(tv)
(i)

et 10
@ 93O sM
@ @ Y@
(i) < TEE
(v) WA # @

(d)
(ﬁv)
(i1)
@)

(i)

36



45. Match List I with List II :

List I
(@ Chronic Poor

(6) Churning Poor

(¢) Non-Poor
(d) Occasionally Poor

List II

(©)  Below the poverty line most of
the time

(1) Rich most of the time but
sometimes, out of a business
fluctuation become poor

(izz) Always above the poverty line

(fv) Regularly move in and out of
poverty

Choose the correct answer from the options given below :

@ & @ @
(A @) @) 6@ (o)
B @ G G G)
C) G @) Gv) @
D @ O @ G

T I g I @ fam it

T 1
(@) o Tda
(b) dT T

() TR-T=
@) Fh-Ff T

el 10
() R 999 TWE @ S TR

() ARIR 999 6 B § AT Fi-=eft =mr
A FN-9gE & RO T QY §

() T e Y& IW
Gv) frRAfME &7 F Wt & s iR a1 5

ﬁ_ﬁl{ﬂt{ﬁaﬁﬁﬁuﬁwzﬁlwaﬁm:

@ ) ©© @
(A) @ @) @ Gv)
B) @ G @) @
(C) @) @) () @

M G @ G G

TBC : 24/ECP/I——B

H I, L, )



46. The marginal productivity of disguised unemployed workers is :

(A) Zero (B) Not zero
(C) Less than zero (D) Greater than zero
T SSTIR gt Y g IAEHA T :

(&) = _ (B) v
C) y(a ¢ ot & D) = A 9 e

What percent agriculture and its allied industries account for the total Gross
State Value Added (GSVA) of Himachal Pradesh ?
(A) 13.70%

(©) 15.10%

47.

(B) 10.61%
(D) 14.91%

Wﬁﬁﬂﬁ?ﬁaﬂimmmm%m Hehed iwaﬁjawﬁﬁﬁlﬂ_lfl
T2

(A) 13.70% (B) 10.61%

(C) 15.10% (D) 14.91%

. Arrange the folldwing years based on the number of foreign tourist arrivals
- in Himachal Pradesh in descending order :

(1) 2020 (2) 2021

(3) 2022 : : (4) 2023 (up to December 2023)
Choose the correct option : _ | o

(A) @), 3), @), ) B) @), (), (3), @)

(©) (3), (1), 2), @) | D (3), @), (), Q)

e g T ws  fermae wew A fadet wewt ® e Yo W emaife s
wa | fafed - .

(1) 2020 @ 2021

3) 2022 4) 2023 (RER 2023 T
(8) @), 3), (@), 1) - (B) (), W), @), 2

© B3, D, 2, d o @), @, @), Q)

TBC : 24/ECP/I—B - ok



49. For the year 2022-23, match the Industry sub-sector in Himachal Pradesh with
. the percentage of workers employed in them :

List 1

List 1I
(Industry Sub-sector) (Percentage of Workers Employed)
(@) Mining and Quarrying ) 2
~(®) Manufacturing @) 41
(@ Electricity and Other @) 50
Utilities '
(d) Construction @) 7

Choose the correct option :
@ O @© @
A) @ @ G (G
B) @) v @) @
©) G G 6 G
M @) @ @ @

g 2022-23 # feuraa WU & AN & UL H mm(uﬁm)ﬁﬁaﬁ
FiSA

Tt 1 et 1 |
(I Sua) : (Crifaa st w1 wfaem)
(@) & T@ Sc& © 2 .
®) S (&) 41
(© fosteh qm s ST @) 50
(@ P | " AP
@ fahe g :

@ B (© (d)
Ay G @ G @5
B) G @) ) @
© G G @ @
o) G O @ @

| 50 S o o
TBC : 24/ECPI—B -



: : ber
50. For the year 2023-24, match the type/name of banks with their total num

of branches in Himachal Pradesh :
List I
(Type/Name of Bank)
" @ Public Sector Banks (PSBs)
(6) Private Sector Banks (PSBs)
(¢) Himachal Pradesh Gramin
Bank (HPGB)

(d) Himachal Pradesh Co-operative
Sector Banks

.Choose the correct option :
@ B @ @@

A) @) O G @

B) @) Gv) (@) @

© O @ @& GG

M) G @G Gv) @)

List II

(No. of Branches in HP)

@ 267
(@) 568
@) 1,170

(iv) 274

ﬁmﬁamﬁaﬁzoza-m%ﬁﬂﬁﬁ%maﬁmaﬁwﬁaﬁﬁw%

q1Yg ﬁil?'l'lg'll :
gt I
(@ & WRR/AT)
(@) TEStF &5 9% (W @ ot W)
() =it &3 S (W @ & ™)
(¢ feu=m WRu o §% (T8 4 st o)
(@) Tear=a W Wl 8 %
Tl fasea g .
@ B @ @

A) @) @ @) @

B) @ @) @@ @

© & G G G5

D) @) @ @) O

TBC : 24/ECP1—B ' 40

= 10
(FEm)
@ 267
@) 568
@) 1,170
() 274



51. Gir National Park was established in the year : -

(A) 1955 (B) 1974
(C) 1975 D) 1968
R w&die sam #1 e feg od & w5 w2

(A) 1955 (B) 1974
(C) 1975 : D) 1968

52. In Japan, a cyclone is called as :

(A) Hurricane (B) Typhoon
(C) Willy-Willy (D) Whirlpool
S9F § Tham I S W ¥

(A) 7l | s (B) <R%A
(C) forceh-Toreeh D)

53. Given below are two statements :
Statement I : Directorate of Forest Education is located at Agartala.

Statement II : Tropical Forestry Research Institute is located at Jabalpur.
In the light of the above statements, choose the most appropriate answer from
the options given below :
(A) Both Statement I and Statement II are _éorrect.
(B) Both Statement I and Statement II are incorrect.
(C) Statement I is correct and Statement II is incorrect.
(D) Statement I is incorrect and Statement II is correct.
T < w7 g M § ¢
Fua [ : o fogn FeemeE enraen § fem 7
HUT I : S HfeaHa A STEIH Tem oy § fem ¥
3 YT W IR W A KT T ol § @ v sfew sw w1 g
Hifed | _ :
(A) F9 1 3K oA I F G R
(B) ®ga 1 3k HeA I A e €
(C) ®v 1 9@ ¥ SR oA II T R
@) w99 1 Te@ & 3R Fe I T 7

TBC : 24/ECP/I—B : 41 : P.T.0.



54. Given below are two statements :

Statement I : Teak is the dominant species in vast saline regions of India.

rgreen Tain forests.

Statement II : Babul vegetation pertains to tropical eve

In the light of the above Statements,'choose the most appropriate answer from

the options given below :

(A) Both Statement I and Statement II are correct.

(B) Both Statement I and Statement II are incorrect.

(C) Statement I is correct and Statement II is incorrect.

(D) Statement I is incorrect and Statement II is correct.

Y & weA g T E

a7 1: mﬂuﬂaéﬁ‘mﬁ@’( & # ygE Wl €
HgT I ¢ a@mﬁmﬁmﬂﬂmaﬂfﬁﬁm%l
mmémmﬁmwﬁmﬁﬁmﬁammw
FioE
'(A)zn—mla‘-?r{wnaﬁaﬁ%n
(B)mls‘a‘rtmﬂaﬁW%l

(©) B 1 w@ ¥ SR FH I T T
(D)W'Inaﬁ%aﬂ'(wﬁ‘aﬁ%l

TBC : 24/ECP1—B 42



85 Arrange the tollowing National Parks of India from Eunst to Woat :
1) Corbott Nationa) Park

(2)  Kanger Gi\:\ti National Park
(3) Rohla National Park

() Valvadore National Park
Choose the correct answer from the opti

Q@ @), @, (1, 3 (B) (2), (1), (8), (4)
@ Q) @), @3, «) D) (@), (8), (2), (1)
m‘%ﬁ“ﬁfmwwuﬁuar@mﬁvmﬁammmwz

ons given below :

Q) TR T ur (2 WK 9 T U
@) A T o (4) AR A TOE
ﬁmWﬁWﬁﬁwmﬂww:

(A (), (@), (), ) (B) (2), (1), (8), (4)

© Q) @), (3), &) D) (@), 3), (2), (1)

56. Arrange the following Institutes of India from North to South :
(1) National Bureau of Animal Genetic Resources
(2) National Bureau of Plant Genetic Resources
(3) National Bureau of Fish Genetic Resources
(4) National Bureau of Agricultural Insect Resources
Choose the correct answer from the options given below :
@A ), @), 3), @ B) (1), (8), (2), (1)

(O (@), @), (D), 3 ~ D) (1), (8), (2), (4)
WA % frefafa W @ s A o § sef w1k -
(1) T W] SRS T g
(2) T R SFEE FOA SR
(3), T WG SRR FEA S
) Tt P e wonE =@

R fir o fowedl § ¥ W@ SR W g w6t
A (1), @), 3), 4 (B) (4), (3), (2), (1)
©€) @), @, 1, & (D) (1), (3), (2), (4)

TBC : 24/ECP/I—B 43 ~ P.T.O.



57. Consider the following statements :
(1) Travancore agrobiodiversity Hot spot pertain to Rajasthan.
(2) Konkan agrobiodiversity Hot spot is in Maharashtra and Goa.
(3) National Herbarium of cultivated plants is at New Delhi.
(4) Triveni agrobiodiversity Hot spot pertain to Assam.
Choose the correct answer from the options given below :
(A) (1) and (2) only (B) (2) and (8) only
(C) (3) and (4) only ' (D) (1) and (4) only
frefafes 9@ ® R |19
(1) TR F Safafya @ w@ie ToRTE ¥ HEtE ¥
(2) wwaﬁﬁwmmmaﬁﬁmﬁm%l
@) S @ T Temew (gEfem) ® fieedt # ®
4) PRt Ffy Safafem @ we omm § dafad §)
A2 fer T fawed § ¥ WA IW F T Hi
(A) Faa (1) 3 (2) (B) “Had (2) ¥R (3)
(C) ®a« (3) 3R (4) . D) Fad (1) 3R (4)

58. Consider the following statements :
(1) Monkey valley lies in Chamba.
(2) Kiarda Dun valley lies in Kangra.
(3) The Great Himalayas are referred as Alpine zone in Himachal Pradesh.
(4) Churadhar pertain to Zanskar range in Himachal Pradesh
Choose the correct answer from the options given below -
(A) (2) and (3) only v (B) (1) and (3) only

(C) (3) and (4) only (D) (1) and (2) only
frrefafeg s ® fTEr SR -

(1) sex Wi @ § fem ®

@) frarer g7 W&t wimer | fem © -

3) ferwa wewr # e T #1 SR W F R W oy, ey ¢
4) SR feea wu § Je A ¥ w6 ‘

A Ry M e § ¥ W@ IW g FR -
(A) @ (2) AR (3) (B) @@ (1) 3k (g)
(C) wad (3) IR (4) D) Fad (1) 3R (g)

TBC : 24/ECP/I—B 44



- 59 Match List I with List IT -

List I List II
(Ramsar Site) (Name of State)
(@) Rudrasagar lake G) Punjab
(b) Harike lake (i) Assam
(¢) Deepor Beel lake (i) Tripura
(d) Vembanand wetland (iv) Kerala
Choose the correct answer from the options given below :
@ ® © @
(A @& @) @ G
B) @) @) @ @
©) G @& @ @)
M) @) © (v G
gt I &1 = 0O 3§ faee Hifd ;|
g I et 1
(T ) ' (ST @ )
(@) TEEFR A DN
®) TS 0s) -
(@ Fdr A )
(@ F=E I yf (v)
9 feg g fee § F WO I A
@ @) @ @
(A) @) @) @ @)
(B) () @) @ @
©) @) @ @ @)
o) @) @ () @@

TBC : 24/ECP/I—B

45

P.T.O.




60. Match List I with List 1I :

List 1 List 1I
(Waterfall) (District)
(@) Rahla ' (i) Solan
() Bhagsu - (@) Kangra
(¢) Badri (i) Shimla
(d) Chadwick (iv) Kullu

Choose the correct answer from the ;)ptions given below :
@ ®) @ @
A) @) @ @ G
B) @) @) ) O
©) @ @ @ O
D) @ @ @ G
gEl 1@ gat 11 9 faam +ifed .

el R cibi

(Setga) (Ferem)
(@) Teel ' @ oA
(b) WY () TS
© = Gii) feren
d) =refas (w) T

= Ry g faredt § ¥ WH IR T TE FiA
@ ® © @ |

@A) G @ @ G

®) Gv) G) G ©

© G @) G 6

O GO @ @) @)

TBC : 24/ECP/I—B 46



61.

62.

Arrange the following climatic zones of Hima
amount from lowest to highest :

(1) Frigid aridic zone

(2) Wet temperate zone

(3) Humid sub-tropical zone

(4) Sub-humid sub-tropical zone

chal Pradesh according to rainfall

Choose the correct answer from the options given below :

Q) @), @), (1), 8)
B) (), @), 3), @
© ), B), @), @
®) @), ), 3), 2

femee ww & frafafen somm & ool F amen F oeR A e
Hl AR =Efem i .

1) e = &=

(2) T v &

() IR Iue-Hieada &

(4) IV-3 Shw-wHiEdg &

R e e freed # X m’r TR W T HE
A) (@), (4), ), 3

(B) (1), 4), ®), (2

(©) (@), 3), (4), 2

D) (@), (L), 3), (2)
Which of the following processes is not related to nutrition ?

(A) Ingestion (B) Assimilation
(C) Egestion (D) Scouring
fretfafea § St i 9o ¥ wEfew T8 T ?
(A) SfadEd (B) Wi
(C) Frspre D) 3

. | . prO.
TBC : 24/ECP/I—B & -



63. The. process by which the heat comes to us from the sun is called :

(A) Convection (B) Radiation
(C) Conduction (D) Dispersion
WA TE FH B JA I THT Feadd & ?
(A) HaeA B) fafem
(C) e : . (D) feEw

64. Given below are two statements :

Statement I : Upper jaw is an immovable joint.

Statement II : The cartilages are harder than bones.

In the light of the above statements, choose the most appropriate answer from
the options given below :

(A) Both Statement I and Statement II are correct
(B) Both Statement I and Statement II are incorrect

(C) Statement I is correct and Statement II is incorrect

(D) Statement I is incorrect and Statement II is correct

o we Gg T ¥ .
FUT I : FUN TS TF I9SA 6y T
w9 I : S0y ifed &t oem &8r ot &

mwﬁmﬁﬁmwﬁmﬁ%mmmmw
i -

(A) F97 1 3R w97 11 391 98 ¥
(B) %94 1 3R %97 II <Ml Tom
(C) F97 1 9& ¥ iR ¥ II Tom ¥
(D) %91 1 Tea & 3R w99 I 98 ¥

TBC : 24/ECP/I—B - 48



65. Given below are two statements :

Statement I : Rusting of Iron is a chemical change.

Statement II : The process of depositing a layer of Zinc on Iron is called

galvanisation.

In the light of the above statements, choose the most appropriate answer from

the options given below :

(A) Both Statement I and Statement II are correct

(B) Both Statement I and Statement II are incorrect

(C) Statement I is correct and Statement II is incorrect

(D) Statement I is incorrect and Statement II is correct

i @ % Ky T ¥

FH [ : @R W S O T AR R R

S I : 9 T f5% #1 Wd 90 F THA TWE-T Fear ¢
suffafed @o & omr W MY R M fwed § § w9 o IW oW g
Ffrd

(A) wg 1 3 FHH 1 36w ¥

(B) e 1 iR For 11 gFl e &

(©) Fu 1 §& ¥ oK wud I e ¥

(D) o 1 e & R w11 ¥

TBC : 24/ECP/I—B 49 P.T.O.



66. Arrange the following

gases according to speed of sound in them from lowest
to highest :

(1) Sulphur dioxide (2) Helium

(3) Oxygen . (4) Hydrogen

Choose the correct answer from the options given below :

(A) (2), (), (3), (4) B) (), (3), 2), (4)

(C) (@), 3), (1), )

D @), @), (1), (2)
Wﬁﬁﬁﬁﬂﬁ%ﬁﬁh%mﬁwﬁﬁmmﬁmﬁm

(1) Ve SaiteaEe (©QF S
3) Siteeiier

4) TEgeH
ﬁ%ﬁqwﬁaﬁﬁ%nﬁmwww SR
A) (2), (1), (3), (4) B) (), 3), (2), (4)
(©) (@), (3), (), (2)

D) 3, @), (), (2)
67.

Consider the following statements -

(1) The innermost part of flower is called ovary,
(2) Leaf usually has a lamina.

(3) Roots absorb water and minerals from the soil.
(4) Petals is not the part of a flower.

Choose the correct answer from the options given below :
(A) (1) and (2) only

- (C) (2) and (3) only
ﬁqﬁi@ammﬁa—r{ﬁﬁﬂ:
() 9 & &% 4 fog om 9 siwE ww@ ¥
(2) W=a: R H woerm B )

@) v i A 99 v wFe wel W s W E
(4) 9GS TN & 9 TE g

TR /U T fawed § A @@ W oW T Sk

(A) ®ad (1) 3R (2) (B) I (2) 3ir (4
(C) F=a (2) iR (3) D) e (3) 3k (4)

(B) (2) and (4) only
D) (8) and (4) only

TBC : 24/ECP/I—B 50



68. Consider the following statements -
(1) Insulin regulates blood sugar level.
(2) Secretion of estrogen occurs in males.
3) Deﬁciency of iodine may cause dwarfism.
(4) Thyroid gland regulates metabolism for body growth.
Choose the correct answer from the options given below :
(A) (1) and (3) only
(B) (2) and (3) only
(C) (1) and (4) only
(D) (2) and (4) only
frafafed oA w =R i .
1) g'gﬁqmﬁmmmﬁmqm_%l
@) q@ﬁqmwmﬁﬁmﬁl ‘
(3) RIS ®I FH F AT A FEFA ¥ _
@) oS U TR F gfs @ fau Sueed w1 fRER e &)
A9 ooy feed § ¥ W IW F IHE e
(A) Faa (1) 3 (3)
(B) $ae (2) R (3)
(C) Baa (1) 3R (4)
D) FIa (2) 3R (4)

TBC : 24/ECP/I—B 51 P.T.O.



69. Match List I with List II :

List I : List II
(Acid) (Found in)
(@) Lactic () Curd
) Oxalic (i) Spinach
(¢) Tartaric - - (ifi) Ant’s sting
(@) Formic . ; (iv) Grapes

Choose the correct answer from the options given belowl 2
@ ©® © @
@ @ @ @ @
®B) @ @ @ @ .
© & @ @ Q@
M @ @ @ @@
W I w g I 9 fream &

et I ' Tt I

(3t) - (frad urar T )
(@) RS G <@
(b) Idfes (i) e
© =fR= 25 i) dR T EH
(d) wIifHE  (v) SR '

I fRu T e ¥ ¥ 98 SW 1 9 S .
@ ® © @

@A @ 6 @) @)

B) 6. G G @

© © G G G

® G) @ 6O @

TBC : 24/ECPI—B _ 52



70. Match List I with List II .

List I List II

(Scientist) (Country)
(@)  Galileo () Germany
() Hertz ta () England
(©0 Robin Warren @) Ttaly _
(d) Edward Jenner - (v) Australia

Choose the correct answer from the options given below :
@ ® © @ |

@) G O @ G)

B) G G G) -G

©) @) G @ G .

M) @ & G o)

TR I g I R frem i

e I B - 1 |
(@) © T @)
(@ eifer P R §
®) wF @) e
(c) U s @) Zeet
@) T I | ICORE
= fu T fowedi § § 9@ SR W g i -

@ @) @ @ FE s e i

A) Gi) G G). @

B) G &) @) . @)

©) Gii) @) G G N
O G) @ G @) ] | :

TBC : 24/ECP/1—B _ 63 TN PITNO.



TL According to the latest Air Quality Report (2024) which Indian City emrerged
as the most polluted ?

- (A) Guwahati (B) Saharsa

(C) Begusarai | | (D) Kathar

ﬁzom*ﬁa@wﬁﬁé%ammwwwwﬁqm%?

(A) ToEE _ (B) &
(C) ST (D) IR
72. Which position India got in EIU’s Democracy Index-2023 ?
(A) 5lst | (B) 65th
(C) 41st D) 49th
iﬂ!ﬁg%@mwmzsﬁmaﬁﬂmwm@ ?
(A) 51at . @ . (B) 653t
(C) 418t . D) 494t

" 73. Who has been selected for the Bob Jones Award, the highest honour of the

US Golf Association ?

(A) Tiger Woods (B) Jack Nicklaus

(C) Walter Hagen (D) Harry Vardon

:mmmﬁaﬁawmmm%mmmw
?

(A) TR g€d . (B) Y& fawerg
(C) TR ¥ & D) 0 =T

TBC : 24/ECPI—B 54~
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74. Givgn below are two statements :

e B

Statement I : The Shinkun La tunnel is at an altitude of 15,855 ft.

| Statement II : The length of Atal tunnel is about 6.02 km.

In the light of the above statements, choose the most appropriate answer from
the options given below :

(A) Both Statement I and Statement II are correct

% I

(L

(B) Both Statém_ent I and -St;syi;gment II arel incorrect
(C) Statement I is correct and Statement II is incorrect
(D) Statement I is incorrect-and Sfatement. IT- is’ correct’
IR < Fwm e ¥ .

o 1: fog @ g 15,855 e = S W ¥

i
gitstos & T

wu I : 37 a1 & et 6.02 i B NN
(A) H9F 1 IR w1 391 HE B w5 WIS . g

B) #9911 3R wua II < Tem € |

(©) WIHﬁ%aikwnﬂaa%

(D) Fo I T & 3R o I 96

TBC : 24/ECP/I—B : 55 : P.1.0.



75. Given below are two statements ;

Statement I : Ram Mandir is designed in Maru-Gurjara sub-style.

Statement II : Ram Mandir is designed by the Sompura Fami]y of

Ahmedabad.

In the light of the above statements, choose the most appropriate answer from

the options given below :

(A) Both Statement I and Statement II are correct

(B) Both Statement I and Statement II are incorrect
(C) Statement I is correct and Statement II is incorrect

(D) Statement I is incorrect and Statement II is correct

dR q wyF fog o ¥ .
HaT I : mﬁﬁtaﬁm-ﬁum—ﬂ?ﬁﬁmﬁmm%:
mn:m#ﬁwaﬁm%%ﬁmm%hw%

mﬁﬁf&aﬁ@mmmﬁhﬁﬁwﬁﬁﬁmsﬁawmw
Hifsa |

(A) #9791 3R *om 11 3FT wdt &
(B) 99 I 3R %97 II o o ¥
C) FHF 1 T8 % IR F94 Il Tow

D) %97 I Ted § 3R w99 I 9 &

" TBC : 24/ECP/I—B 56



76. Given below are two statements -

tate :
Statement I : Bab el-Mandeb strait off the tip of Yemen is a maritime choke

‘ point in Red Sea crisis.

Statement II : Bab el-Mandeb strait forms the western entrance to the
Red Sea.

In the light of the above statements, choose the most appropriate answer from

the options given below :

(A) Both Statement I and Statement II are correct

(B) Both Statement I and Statement II are mcorrect J

(C) Statement I is correct and Statement II is incorrect

(D) Statement I is incorrect and Statement II is correct

g+ I T @ Ft W feo 9 ST SeeRee OE IR dhe § T Wl |

Y &g ®1

=T I mm_ﬁaWWWMﬁaﬁmmm%l

Wm%wmﬁmmﬁmfﬁﬁmaﬁammw

FIEY - | '

.(A)Wlai}qwnﬁﬂﬁ%

(®) o 1 s e I T E

— o T aik wgq II Iad ?

¥ i oo I §@ ®

©)

D) Fg I T@d

57 | P.T.O.
TBC : 24/ECP/I—B



77. Arrange the following Indian cricketers completing 1000 runs from youngest
In age to eldest in'agevytatrontctiox

(1) Yashashvi Jaiswal (2) Ravi Shastri

(3) Sachin Tendulkar _ (4) Kapil Dev
Choose the correct answer from the options given below :
A (), @), 3), 4) . (B 3), @), ?), 1
© @), @), @, (1) D@, m e,

g # T FH Y TR T 1000 W R FO T FreAfefag wRda fawed  Sated
Hifa _ ; .

LSl i 1y

(1) IIREt FEwa R (2) RERR S]]
(3) wfem Tge 4) w3\
9 Ry T ot § @ wd SW oW g S
(A) (1), (2), (3), (4) B) 3), @), (2), (1)
(C) 4), 3), (2), (1) D) 2), 1), 3), @

78. Arrange the following ‘Ngt;ion_all_ days in chronological order of their
occurrence :

(1) National Mathematics Day  (2) National Science Day

(3) National Youth Day (4) National Energy Conservation Day

Choose the correct answer from the options given below :

A ), @), 38), @ (B) ~(2), (3); (1), (4)

(©) @), @), @4), 1) D) (2), (4), (1), (3)
Freaffem T feell A1 3T FewgEl W e W
O T e R (@) T R g

@) T g e @ mmmmm A
2 fer MU fawcdl § ¥ W SW F TE Wi .

A (), 2), (3), 4) (B) (2), (3), (1), (4)

(C©) (3), (2), @), (1) D) (2), 4), (), (3)

TBC : 24/ECP/I—B 58



79. Arrange the occurrence of the following Global Summits of 2024 in chronological
order :

(1) WTO
(2) G7

(3) UN Convention on Biological Diversity
4) G20

Choose the correct ans-wer from the options given. below :
A) @, @), 3), @)
B) (2), 3), 4), (.1)
(C) 3), 4), (1), (2)
D) @), (1), (2), 3)

2024%ﬁmﬁmﬁﬁwmmaﬁaﬁaﬁmaﬁwﬁﬁmiaaﬁm
EI 1 : '

(1) =g s
(2) w7
@) Maw fafavam = dgw T FHwA
(4) f20
9 fir T e § ¥ W@ W F T FIE ;
A @), 2, 3), @
(B) (2), (8), @, (D
© @), @, D), 2
D) 4), (1), (2), 3)

TBC : 24/ECP/I—B - b9 | - PO |



80. Consider the following statements :
(1) ‘Risa’ is a tr;aditional tribal dress of Assam.
(2) National Dolphin Research Centre was inaugurated at Patna. |
(3) Underwater metro rail service has been inaugurated in KOlk‘?t'a' -

' L iharikota
. (4) Satellite and Payload Technology Centre has been started at Sriha
in Andhra Pradesh.

Choose the correct answer from the options given below :
(A) (1) and (2) only
(B) (3) and (4) only
" (0) @ and (3).only
(D) (1) and (4) only
Frefafes s W faEr S -
1) ‘fer’ o/ @ GRuRe A e ¥
(2) T Sfew FFEA FR I WA e # e @ T
3) mﬁm@wwmmmm%.
@) g Ry 3 e § RO MW AW MAH B F OgEew H:
T ¥ | '
4 fag o fawed § ¥ W SW W TE FED
(A) @a (1) 3R (2)
(B) @ad (3) 3R (4)
(C) Faa (2) IR (3)
(D) @ ) IR @

TBC : 24/ECP/1I—B 60 '




81. Consider the following statements :
(1) XPoSat will unravel the mysteries of black holes.
(2) XPoSat has a cost more than $188 million. |
(83) XPoSat expected lifespan is two years.

(4) XPoSat was launched from Sriharikota in Andhra Pradesh.
Choose the correct answer from the options given below :
(A) (1) and (4) only
(B) (2) and (3) only
(C) (1) and (3) only
(D) (2) and (4) only
frefafen wgH W faer =R
() i <% d0-® e ¥ w sem

(2) TN @ A 188 fiferm fer & s #)

(3) TG & daTem q W W W IR W
4) qwﬂﬂzﬁaﬁﬁm'ﬁﬁaﬁﬂﬁaﬁﬁﬁHMWml
 fog Ty fawmedl § ¥ WE SW K TR FR

(A) Fa (1) 3R (4) | '

(B) @ad (2) R (3)

©) @@ (1) 3R (3)

D) Had (2) sht 4) .

TBC : 24/ECP/I—B 61 - ¢y PTO.



'82. Consider the following statements :

(1) The International Solar Alliance headduartem is located at Gurugram,

Haryana.
(2) Coalition for Disaster Resilient Infrastructure is located at New Delhi.
(3)  The International Solar Alliance was USA idea.
(4) Quad has brought together India and Russia.
Choose the correct answer from the; options given below :
(A) (1) and (2) only
(B) (2) and (3) only
" () (3) and (4) only
(D) (1) and (4) only
frafafen ®o | TR i3
@ ﬁaﬁgﬁﬁnﬂa‘m-mwm%wﬁﬁﬁm%
) s S g @R @ g T = Rt 4 fe
@) s ¥R e LEEE F R A |
@) e i SR wE @ Wi @ # wews g
43 R g fed § ¥ wE TR B L FO
&) @@ (1) AR @) |
(B) daa (2) 3R (3) -
() Fa@ (3) ¥R (4)
D) #a& (1) 3 @)

TBC : 24/ECP/I—B ' 62



83. Consider the following statements -

(1) Computer scientist Hari Balakrishnan was awarded the 2023 Marconi
Prize,

(2) Central Industrial Security Force (CISF) raising day was revised in 2022,
- (3) The widest gap of Western Ghats is at Palakkad in Kerala.
(4) Flyash is a wanted burnt residue in coal thermal power plants of India.

Choose the correct answer from the optic 1s given below :

(A) (2) and (4) only

(B) (1) and (4) only

(© (1) and (3) only : ;

(D) (2) and (3) only

fFefafes o w fmr sfm . |
(1) aﬂ@témﬁmsﬁmaﬁzozsmmmmﬁmnm

(2) %ﬁﬂﬁ%ﬂﬁﬁg@ﬁ(ﬁ%@@)mmﬁwaﬁzomﬁm
ferar

3) qﬁaﬁmwmﬁmﬁqwawﬁ%. g
(4) wﬁ@w%%m%ﬁﬁmﬁmm@nmﬂu%l
ﬁ%mmﬁﬁﬁﬁﬁnﬁmmww

(A) daa (2) 3R @)

(B) dad (1) 3R (4)

(C) F=a (1) 3R (3)

(D) ad (2) 3R (3)

TBC : 24/ECP/I—B 63 | ey PTO:



84. Match List I with List II ;

List I
(Payload)
(@) Cartosat-3
(d) Aditya-L1
(¢): XPoSat
(d) RISAT-2B

List II
(Date of launch)
()  September 2, 2023
(i) May 22, 2019
(i) November 27, 2019
(iv) January 1, 2024

Choose the correct answer from the options given below :

@ @) @ (@
A) @) @ @) @@
B @ @ @) G

© @) G) G i)

M & @) @G

r

T I @ gt O 9 frem s

gt I
(FeTre)
(@) HEE-3
(b) 3Infa-TeAl
(c) TEURE
(d) T&=e-2+f

gt IO
(at= fafe)
() . foa=r 2, 2023
Gi) W 22, 2019
Gi) TR 27, 2019
(v) SHEG 1, 2024

¥ feg U faecdl 4 ¥ 98 w1 A FIEE

@ ® © @

A) G @ @ @
@ & @ @ W)
© G G @ D)
SO GG @ W)

TBC : 24/ECP/1—B

64



85. Match List I with List II :

(a)
(b)
(c)
(d)

Choose the correct answer from the options given below :

List I List II
(Summit in 2024) (Location)
ASEAN () Baku
COP 29 (f) Kazan
BRICS (z1;) Washington
NATO (tv) Laos

(@ ) @ (@

(&) @) @) Gv) @)
(B) ) () @) @)
(C) Guv) @) @) (i)
D) () @ @ @)
gt 1w g 11 @ frem S
g 1 gt 11

(2024 & for@y W) (wm)
(a) FFEEH @ g,
®) FT 29 (@) M
© feg (é) =RTTER
@) (fv) WA

A) G

(B)
(C)

D)

TBC : 24/ECP/1I—B

@) G @) 6
) G 6 @)
) @ @ D
| 65

P.T.O.



86. Who wrote it, “If the producers are crippled, the farmers are burdened with
taxes and a huge amount of the revenue is sent out of the country, then any

_ country in the world will become permanently poor and will have to face famine
again and again.”

(A) Dadabhai Naoroji (B) Ramesh Chandra Dutt

(D) Anand Mohan Bose

It T fomn fs, 'aft scsl oo s S, fREEl W R B S AR

fezn s < g w1 R off 3w v dv w3y @ Son iR S/ T H AR-AR
QA s g2 W

(A) SRR AR (B) TR T
(C) YIS e (D) A=< HWEd 9"

(C) Gopal Krishan Gokhale

87. Dandra Movement, which took place agaihst the New Land Settlement in

Bilaspur in 1930, the people of which Pargana first started a movement against
the land settlement ? '

(A) Ratanpur (B) Rampur
(C) Bahadurpur _ (D) None of these

: <= aT=Ier, S 1930 # faemagy § W ot s<Ew & foes g @1, wed T
frg Tom @ @t Y uft S<Ea & faeg A=eE B9t A '

(A) TR (B) TR

(C) o O T ¥ B

88. Who was the founder of “Balsan Thakuria” ? .

(A) Moolchand \ (B) Kunwar Singh
(C) Harichand (D) Alak Singh
e S B e wH A7

(A). TEI< B) %= e

(C) == - o e foE
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89. Given below are two statements :

Statement I : The author of the book — “Pakistan or the Partition of India”

was Dr. B. R. Ambedkar.

Statement II ; The childhood name of Swami Ramakrishna Paramhansa was
‘Gadadhar’,

H

In the light of the above statements, choose the most appropriate answer from
the options given below :

(A) Both Statement I and Statement II are correct

(B) Both Statement I and Statement II are incorrect

(C) Statement I is correct and Statement II is incorrect

(D) Statement I is incorrect and Statement II is correct

o A He g me ¥ .

w I “WW&WWW"-W%ME{#. 3.
e 9| |
anmmnm%mmmwmmn

mﬁ%@amﬁ%mm_mﬁmmﬁaﬁﬁﬁmsﬁawwmﬂ
HifSTq -

(A) oA 1 3R e 11 91 @ §
B) ¥4 1 X F97 II S Tod &
(C) %o I §&l § 3 ®eM II 7o

(D) w9 1 e ® AR FHE I W@ R
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90. Given below are two statements :

” W unded b
Statement I : “Bhartiya Rashtriya Samajik Sammelan” Was founded by

Swami Dayanand Saraswati in 1883.

Statement II : ‘Veda Samaj was established in 1867 at Karnataka.

| i r from
In the light of the above statements, choose the most appropriate answe

the options given below :

(A) Both Statément I and Statement II are correct

(B) Both Statement I and Statement II are incorrect

(C) Statement I is correct and Statement II is incorrect

(D) Statement I is incorrect and Statement II is cox‘*rect

¥ < woA e ™ F : |

S I ;. uRd T T gEE’ B T S SIS e 4 1883
SR T | |

a;m.ug ‘Fe wA’ F WO FAlew d 1867 H T T

wﬁﬁf@ﬁmﬁﬁaﬂﬁmmﬂﬁﬁqﬂ?ﬁﬂﬁ@wﬁaﬁammw

HifTd |

(A) mﬁlafﬂwnaﬁﬂ'é%

(B) H 1 R FH IIfﬁ'—ﬁTﬁIﬁ?

(© mmlsﬁr%eﬁnarmnm%

(D).EWIW%GWWHH@%
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91. Given below are two statements :

Statement I . Chamba had its gwn currency since ancient times. This was

called “Chakli”.

Statement 17 Raja Lalit Verman of Chamba had built two temples named

‘Chandragupta’ and ‘Kameshwar’ in Chamba.‘

In the light of the above statements, choose the most appropriate answer from
the options given below ; '

(A) Both Statement I ang Statement II are correct

(B) Both Statement I and Statemént IT afe incorrect
(C) Statement I is correct and Statement II is incorrect
D) Si;étement I is incorrect and Statement II is correct

e q Fe few M |

EoR mﬁmmammmﬁ,s@r“w"mm

FIT 11 - w%waﬁﬁaﬂh%wﬁ‘m’aﬁz‘m'mﬁaﬁm
T 9

m@amﬁﬁ'wwwﬁ%mwﬁWﬁﬁmaﬁﬁWW?ﬁ
e _

(A) o9 I 3R S99 II oF wdr

(B)miaﬂtmﬂlaﬁ’iﬂaﬁ%

(C) ®9 I Wl & 3R o II Tom B

(D)Emlm%aﬁ'{$q:lﬂqﬁ%
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92. Arrange the following events related to Indian History in chronological

order :

(1) Formation of East India Association in London
(2) Formation of India League in Calcutta
(3) Formation of Satyashodhak Samaj
4) Establishm;mt of Bihar Scientific Society
Choose the correct answer from the options given below :
(A) (4), (2), (1), )
B) (D), (4), 3), (2)
(C) (), (4), (2), 3)
D) @), (1), ), (2)
m@ﬂgﬁwm'éq—éamaﬁﬁmwmﬁmﬁm
Q) v # fe sfed THREH F ST
- (@) wemw # gfeA @ W ST
(3) WeARigH AN H TS
(4) Frer wERfRs SEEE w
ﬁ%ﬁqwﬁmﬁﬁﬁuﬂmmwaﬂm:
A) @), ), 1), 3)
®) (1), @), 3), (2)
©) (1), @), 2), 3
D) @), ), 3), (2)
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(2) Bombay Presidency Association

(4) Poona Sarvajanik Sabha
Choose the correct answer from the opti

(A) (1, (3), @), 2
©) ), @), ), 2

ons given below :

(B) (3), (1), 2), (4)

D a7 witgemm @) M FE g
@) Tefew 3feqm RG] @) T uEEtE gy

TR R T fyweg TR w W owm TG Hifed

(4) (D), 3), @), @ (B) (3), (1), (2), 4)

€) 3), @), (), (2)
94. Arrange the following rulers of

D 3), @), (2), 1)
‘Suket State’ in cﬁronological order :

(1) Bhimsen (2) Rudrasen

(3) Ugrasen (4) Lakshmansen
'Choose the correct answer from the options given below :
A) @), 3), @), 1) L ® 6,0,
(©) (2), (1), (3), @ @) (3), (1), (2), (4)
"gaam'a'ﬁnmmﬁmmaﬁm ,
@ fwd @ T

3) swA 4) AR

Y e Ty frwed A W S B TR S

A) (@), 3), (@), (1) B) (3), 2), (1), (4)
©) (2), (1), (3), (4) D) (3), (1), 2), 4)
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95. Consider the following statements :

(1) Paramhansa Mandali was established in Madras.

(2) Alfred Webb was the first Englishman to become the President of Indian

National Congress.

(3) Badruddin Tyabji was the first Muslim to become the President of Indian

National Congress.

(4) The Indian National Congress did not participate in the Third Round Table

~ Conference held in London.
Choose the correct answer from the options given below :
(A) (1) and (3) only
(B) (2) and (3) only
(C) (3) and (4) only
(D) (1) and (4) only ;
frafafea Sud W faEr Hifed -
(1) TEUEE HUSEl i T HEE A g Al
(@) FFehs 9, IRAE TEE A F FAY T A Twd IS G
(3) e G, W T O % s T A T e
@ e e S 3 e iR AR e e R
4 fu o faeed # ¥ WE SN F LA FA
(A) %aa (1) 3R (3) |
(B) &9 (2) I (3)
(C) Fad (3) 3R (4)
(D) Had (1) 3 (4)

TBC : 24/ECP/I—B 72



96. Consider the following statements :

(1) In 1910, at Allahabad Session of Indian National Congress was “Jana-
Gana-Mana” sung for the first time.

(2) Swami Dayanand Saraswati had hoisted the ‘Pakhand Khandini Pataka’
at Allahabad in 1867 A.D.

(3) The last Act was the Charter Act of 1853 for the East India Company.
(4) The modern educated Indians also did not support the Revolt of 1857.
Choose the correct answer from the options given below :

(A) (1) and (2) only

(B) (3) and (4) only

(C) (2) and (3) only

(D) (1) and (4) only

frefared FHT )W fF9R EJISCEEE

(1) R T S @ 1910 F TawER AEeE § wed 9 - me-w e

T AT
(2) wﬁwmﬁmaﬁzﬁw 1867 3. ¥ TowRER H was 4l

3) sifm afufem d $fem ST & Ay 1858 1 WX futEm Al
@ srfr fafi s ¥ o 1857 $ fae 1 W @
ﬁmmﬁﬁﬁﬁ@wﬁwaﬂwﬁm:

a) daa (1) IR (2)
(B) Fad (3) IR (4)
(©) FFa (2) I3

@) Fa@ (1) 3 4

T — 73 P.T.0.



97. Consider the following statements :

(1) The first Singh Sabha was founded in 1873 at Amritsar.

(2) Gyan Singh was the first President of Singh Sabha. _

(38) Thakur Singh Sahdhawalia was the first Secretary of Singh Sabha.
(4) Khalsa College, Amritsar was established in the year 1892.

Choose the correct answer from the options given below :

(4) (1) and (2) only

(B) (1) and (3) only

(C) (1) and (4) only

(D) (2) and (4) only

Fresfetfa el w0 foreme R
(1) vom T8 9w =t =g 1873 H orqmeR H g ot |
2) ¥ fie, fiz w0 & et swemy )

(3) AR fife T e W % e R o)

(4) T FIOW, AR FH TG 1892 ¥ g )
A= e g fahedi # ¥ W OSW w1 T i
(A) Haad (1) 3R (2)

(B) Faa (1) 3R (3)

(C) we@ (1) 3R (4)

(D) &I (2) 3R (4)
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08. Match List I with List II .

(a)

(d)
()

List I List II
(Governor General/Viceroy) (Major Events)
Lord Lansdowne (1)  Establishment of High Court in
Calcutta, Bombay and Madras
Lord Northbrook (if) Indian Council Act of 1892
Lord Dufferin (iir) ThircilAnglo-Burmese War

(d) John Lawrence

(iv) Kuka Movement in Punjab

Choose the correct answer from the options given below :

@ @ ©© (@
@ @ @ @O G
B) @) @ @ @
(C) Gu) Gv) @) @)
D) @ @) @) 6.
TE 1w e 09 frem w6ihm
gat 1 e 11
(TEHET AL/ ATEERT) (q& W)
(@) <€ TESEA () o, S, HEE 1 Se <ATed i ST
(b) @I EgH () Ifes wRfgw TR iE 1892
¢) e THA () A - g
d) S @R (v) TSE A FEH AR
ﬁﬁqmﬁwﬁﬁﬁaﬁmmwaﬁﬁ#;
@ ® © @
@A G G O @
®) G @ @ @
© G @ @ @
O G) G @G O
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8. Match List I with List II :

(@)
(b)
(e)
(d)

List I
(Association/Parties)
Punjab Riyasati Praja Mandal
Adivasi Mahasabha
Depressed Classes Mission

Independent Labour Party

List II
(Formation Year)
@ 1906
@) 1936
@) 1928
(iv) 1938

Choose the correct answer from the options given below :

(A)
(B)
(C)
(D)

@ @) (© (@
(@) Gv) @) D)
(@) @) Gv) @)
@) @) @) @)
(@) @) @ ()

ﬁlmqﬁ#ll%fﬂanﬁm:‘-

(TR /arE)

et

(o) T fawt o Hew (O]
(b) oTfEaR Herd @)

¢) Teire =few fagm
(d) 3feide s uRl

(fif) 1928
(iv) 1938

et 11
- (ST TH)

= R e s # ¥ 9 W g IR

(A)
(B)
(C)
(D)

@ ) © @
@) Guv) @) (ii)
@ @) Guv) @
Guv) @) @) @)
@) @) @ Gv)
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100. Match Ligt 1 with Ligt 17 .

(a)
(b)
(c)
(d)

List |
(NewspaperfMagazine)
Amrit Bazay Patrika
Harish‘ Chandra Magazine
Bombay Chronicle
Bharat Mitra

Choose the correct answer from

(A)
(B)
(C)
D)

(@ @) () (d)
G @) G) G5
() Gi)) @) @)
) G G Gi)
) @) G (o)

T I H g IR faam iR

T I

(|ETARaSA /afrehT)

(@) 3T SR G

®) o= - UEiC
) Fha Hifed
(d) ¥ra T

)
(i)
(iEi)
(iv)

(i)
(ir)
(iti)

(iv)

List II
(Publishing Year)
1913
1878
1868
1872

the options given below :

g

(WY aH)

1913

1878

1868
1872

A3 g o fawedl § ¥ W@ TR H G A

(A)
(B)
(©)
(D)

@ ® © @
G G © G .
) ) @ O
) G G G
Gi) @ © @
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